IUT 1st Admission Test(SBL)
Math Examination(TYPE A)

< Multiple choice Types> There is only one correct answer | 4,

for each question. Mark your choice on the OMR answer

sheet.

O The points for each question are listed next to the question number.

O You can use the right side of each page for your memo.

1. [3 points]
Find (1+v2)'+ (1 - v2)".

@D 30 @ 32 @ 34 @ 36 © 38
2 [3 points]

When a+b+c=1, a>+b*+c* =5 and

l-i— l-i-l = 3, find abc.

a b ¢

2 4 2 4

o) 3 @ 3 @ 0 @ Y ® -3
3 [3 points]

When « and B are the solutions

2 +5x+2=0, find & +aB+ 5.

D-91 @-93 @ -9 @ —-97 ® —99

[3 points]
1 — o1
When t—7:2\/3 and t >0, find ¢ +1‘_3
D50 @52 @54 @56 © 58
5. I3 points]
10 1
Find —_.
ngl n2+4n+3
31 33 35 37
@ 104 @ 104 ® 104 @ 104

6. [3 points]
When (a,, b,) and (a,, b,) are solutions of
{x2 + y2 =2
2¢c+y =1,
find a; +b, +a,+0b, .

7 3 points]
Simplify

logs (V2+ V8+ V9)+1log; (V2+v/8—V9).

D2 @3 B V2 @V3
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g [3 points]
Find the sum of all solutions of

4" —=5.2"+2=—-8-2" ",

D1 @3 @ 5 @ 7 ® 9

9 I3 points]
1 )10g4(811)

Simplify (3'°%4%) — (5

D 51 @ 53 ® 55 @ 57 ® 59

10, [3 points]
When 2° = ; and 4Y = 27, find Y.
V3 x

OD-1 @-3 ®-5 @®-7 ® -9

11. [3 points]
a® — b

ab

When a= v/3+i and b= /3 —1i, find
D2 @4 O 6i @ 8i ® 10i

1213 points]
sinf
cosf -’

Compute tg% , Where tgf =

1 1 —

D —-1++v2 @*54’\/5 @fﬁ-ﬁ-\/Q
1 1 —
@*54-\/2 @*ﬁ"‘\/Q

13 [3 pOlntS]
Find the sum of all solutions of
3cos2z +2cosz—1=0, (0<az<2m).

Dr @32 @ @

5 s ® 37

o | ot

14. [3 points]
Find the sum of all solutions of

V3sinz —cosz = V3, (0<z <27 ).

T 2m 5m 4
vy @5 @ @r O
15 [3 points]
(43 (1 2
When A = 32),3— 1 1), and
A B = ZZ),ﬁnd atbtctd.
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16. 3 points]

When A = (10) and A1 = (“ b),

21 cd
find a+b+c+d.

D202 @204 @ 206 @ 208 ® 210
17 [3 pOlntS]
3 : _
Find 1im +2sinz (1—cosx)
z—0 x(l_cosx)
D2 @ 4 36 @8 ® 10

18, [3 points]
Find lim(Vz*+3— Va®+ 32z +4).

xr—> 00

D —

1 3 5
5 @ —1 ®—§ @ —2 (5)—5

19. [3 points]

When y=oax+b is the tangent line
- Vir+4 . .
flx) = 97+ 1 at =0, find a+b.
1 3 5 7 9
v-r -2 9-2 @-1 -2

to

20 [3 points]
Let M and m be the maximum and minimum

values of f(x):§x3+x2—3x+1,

(—3<ax<3), respectively. Find M + m .

26 28
3 3 @? ®?

o1 [4 points]

Find the minimum value of
f(z) = 3sin’z — 4sinzcosz + 2.
D -2 @ —1

@0 @1

2. [4 points]

1—+/3i

14
When w = ——="—, find diwm .

n=0

® V3i
5 1—5/51'

Do @ 1
@ 1— /3

23 [4 points]

When f(z)= vV @Bz+2)*—8, find £'(0).

D 2 @ 4 @ 6 @ 8 ® 10
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24 [4 points]

When a continuous function

satisfies f /f(tQ)dt =z \/2x2+1, find f(4).
0

11 13 14 16 17
Vg @5 O3 @5 O
25 [4 points]
Find the minimum value of
flx)=a"+22° + 42> — 6z +2.
1 3 5 7 9
Vi @15 O3 @35 O55
26. [4 points]
4,2
Find f T2 0
LV
42 44 46 48
27 [4 points]
1 1
Find / ——— dx.
o (2z+1)
2 4 2 8 10
Dy @y @y @y O

f:[0,00) >R

»g. [4 points]

1
Dy @

1
3

n 2 2
Find |jm 3]~ F2kn=n
n—>ook=1 n
1 1 1 1
29, [4 points]
1 3
When / f(2z)dx = 3 and / f(z)dr = 18,
0 0
3
find / f(x)dx
2
D 12 @ 14 ® 16 @ 18 ® 20
30. [4 points]
Find the area of the region enclosed

y=3z>+2z+2+5 and y=3z>+2*+4a+3.

1 1 1
©7 @y OF

by
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